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Ba/His-601

2020
( 6th Semester )

HISTORY
Paper : His—601
( Modern World )

( PART : A—OBJECTIVE )
( Marks : 25)

The figures in the margin indicate full marks for the questions

SECTION—I
( Marks : 10)

A. Write short notes on/Answer the following : 2x5=10

1. Two causes of Taiping Rebellion
Or

Boxer Rebellion
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2. Otto von Bismarck
Or

Define Liberalism.
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3. Wilson’s Fourteen Points
Or

Treaty of Versailles
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4. Nazism
Or

New Deal
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5. UNO
Or

Decolonization
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SECTION—II
( Marks : 10)

B. Choose the correct answer by putting a Tick (v/) mark
in the brackets provided : 1x10=10

1. The hereditary military dictator who ruled Japan
was known as

(@) Shogun ()
(b) Honshu ( )
(c) Shinto ( )

2. Unification of Germany took place under the
leadership of which State?

(a) Wurttemberg ( )
(b) Saxony ()

(c) Prussia ( )

3. Menshevik is a Russian word for
(a) majority ( )
(b) minority ( )

(c) revolutionary ( )
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4. The Tripple Alliance was formed in the year
(a) 1880 ( )
(b) 1881 ( )
(c) 1882 ( )
5. The immediate cause of the First World War was
the
(a) German invasion of Poland ( )
(b) murder of Archduke Ferdinand ( )
(c) ferment in Balkans ( )

6. Which of the following countries did not join the

League of Nations?
(a) USSR ( )
(b) USA ( )

(c) Britain ( )

7. ‘The Wall Street Crash’of 1929 is associated with

(a) the Great Depression ( )
(b) the rise of Nazism ( )

(c) the fall of Fascism ( )
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8. USA dropped atom bomb at Hiroshima in Japan

on
(@) 6th August ()
(b) 8th August ()
(c) 9th August ()

9. National Socialist German Workers’ Party was
also known as

(a) Nazi Party ( )

(b) The Left ()

(c) National Fascist Party ( )

10. When was the United Nations Organization
founded?

(a) October 24, 1945 ( )

(b) December 10, 1945 ( )

(c) October 24, 1944 ( )
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SECTION—III
(Marks : S)

C. State whether the following statements are True (T)
or False (F) by a Tick (v) mark : 1x5=5

1. In the Partition of Africa, Britain took the lion’s
share.

(T / F)

2. Adolf Hitler was the first Chancellor of Germany.

(T / F)

3. The signing of the Treaty of Versailles formally
ended the First World War.

(T / F)

4. The Big Three included USA, USSR and United
Kingdom.

(T / F)

5. Franklin D. Roosevelt was the US President
during the World War II.

(T / F)
* kK
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Ba/His-601

2020
( 6th Semester )

HISTORY
Paper : His—-601
( Modern World )

Full Marks : 70 Pass Marks : 45%

Time : 3 hours

( PART : B—DESCRIPTIVE )

( Marks : 45 )

The questions are of equal value
1. Discuss the causes and results of the Opium
Wars.
Or

Examine the causes of Meiji Restoration and
throw light on its significance.

2. Give an account of the Unification of Italy.
Or

Explain the rise of liberalism in England.

20L/510a ( Turn Over )

(2)

3. Analyze the results of the First World War.
Or

Discuss the composition and functions of the
principal organs of the League of Nations.

4. Describe the rise of Fascism wunder Benito
Mussolini.

Or

Write a note on the Great Depression of 1929.

5. Explain the main causes that led to the Second
World War.

Or

Give an account on the Emergence of Cold War.

* kK
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